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Instructions for the Candidates

1. Write your roll number in the space provided on the top of

this page.

This paper consists of fifty multiple-choice type of questions.

3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: ) Q) @ (@ where (3)is the correctresponse.

5. Your responses to the items are to be indicated in the OMR

Sheet given inside the Booklet only. If you mark your

response at any place other than in the circle in the OMR

Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

9. You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There are no negative marks for incorrect answers.

13. In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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Note :

PHYSICAL EDUCATION

PAPER - 11

This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

Who among the following gave the Olympic ‘Motto” ?
(1) Henry Dedion (2) Cubertin

(3) Plato (4) Juon Antonio Samaranch

2. According to Cooper (1968) value of 12 min. run test is converted to Vo, max. by :
(1) Vo, Max.= (22.351 X Distance (km) —11.288)
(2) Vo, Max.= (22.531 X Distance (km) — 11.882)
(3) Vo, Max.= (11.882x Distance (Metres) — 22.531)
(4) Vo, Max.= (11.288 X Distance (Metres) — 22.135)
3.  Longitudinal muscles, which have less prominent tendons and taperless are called as :
(1) Long muscles (2) Strap muscles
(3) Cross sectional muscles (4) Peniform muscles
4.  Which type of learning tells us what to do and commonly applies to habit formation ?
(1) Insight learning (2) Latent learning
(3) Trial and error learning (4) Instrumental learning
5. A professional institution is judged by :
(1) Goodwill of society (2) Experience
Efficiency (4) Location
pans HIH\I\HII\IHI LA :
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fdor: U T H e (50) Tg-fodedd T ¥ 1 UE U % qF (2) 3F © | @ity Srfvemd €

1. Tm=fafeas 8 @ fem onafes  ereviars’ fean ?
(1) 0 fem (2) FEf
(3) I 4) ST TS T
2. FRF AIAR (1968) 12 e W o & qoa #1 Ffafad § 9 vk g1 Vo, #94. § wRafia
BRI
(1) Vo, #38.= (22.351x 30 (fF.H.) —11.288)
(2) Vo, H#. = (22531 xqh (f&.H1.) - 11.882)
(3) Vo, H¥8.= (11.882xJY (HeX) — 22.531)
4) Vo, H¥. = (11.288 x T (&) — 22.135)
3. Sroerl miEdfeEl fowd w T e’ gt § R STYUSrRR Bl § 1 hel ST ¥
(1) =it wigafeEt (2) =1 HiHufeEr
(3) STV U=aeia Higufemal (4) UrRrE wiEafmE
4. frefafed & § SF-9 9 o1 gfwman g6 a8 sa € T 9o fHen S iR am=raen ened Se
et Bt © 2
(1) sT<gre 9 HEm (2) oTFH &9 9§ HrE
(3) wdeE e Ffe gr Hie (4) 9 w9 9 dE
5. foreft USteR T 1 ATeRT ST ?:
(1) 9991 & g8 9 (2) STEvd
Etanll (4) Hafeafd
H|||!|H||H|||||\|||HH||\|H|\III||H|!|H||||\|\|H|\ ;



6.  Normal thoracic spine 15t to 12th vertebra should have Kyphotic range between :

(1) 20° to 45° (2) 10° to 20° (3) 15° to 30° (4) 5°to15°
7. The high competition frequency is essentially required in :

(1) Preparatory period I (2) Preparatory period II

(3) Transitional period (4) Competition period
8.  Triangulation in research involves :

(1) The use of three different research tools

(2) Collecting data from a variety of different sources

(3) Consulting the work of three other researchers

(4) Consulting the work of authors with the same perspective
9.  The best methods of sports administration is :

(1) Autocratic (2) Democratic (3) Dictatorial (4) Laissez faire
10. Calories burned in training is measured with :

(1) wt. (Ib.)x10+24 x MET (2) wt. (Ib.)x20+42xMET

(3) wt. (Ib.)+20+42xMET (4) wt. (Ib.)+20-24 xMET
11. Professional ethics in physical education includes :

(a) Physical Proficiency (b) Impartiality

(c) Moral values (d) Emotional stability

Codes :

1) @and®) () ©@and(d) () Gand@ @) (2)and (@
12.  Which of the following are correct for ventilation control during exercise in fine tuned :

(a) Higher brain centers (b) Humoral chemoreceptors

(c) Neural feedback from muscle (d) Rick equation

Codes :

(1) b) and (c (@) and (c) (3) (b) and (d) (4) (b) and (c)
D47t |H||| il I\IIHI\ ‘
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6. M 98 U%GE Ul 4 INEd hIGh ol ' AR ' hI0 BHT Y

(1) 20°845°F &= (2) 10°H20°F & (3) 15°9W30° % o9 (4) 5°W15° o o=
7. 3=a wfaendt smgfa &1 srevaswa frefafed § @ fra eafy # stemevas 2 872

(1) 9RfYeh 3rafy -1 (2) IRfYeR ety - 11

(3) HSHHUI T 4) wfreaet we
8. oy H frye o wiftre dran ®

(1) < 3T SNy TR 1 AN

(2) SRS Edl § SAehe TehiAd hil

(3) TN 3T YRl o wE § TIEY HAT

(4) TH & URUed & AEHl & FE G WEHL HEAT
9. WS YIMEA HI HATAH YU & :

1) o (2) rwdiR (3) dERmE (4) TEEET
10. e # @l i T HARt w1 Frefated § 9 frae grRy A S R ?

(1) &99 (R #H)x10+24xMET  (2) oM (RS ) x20+42x MET

(3) o5 (URE H) +20+42xMET  (4) o1 (RS H) +20—24 x MET
11.  IRe fen § gfaw Aifa & srfa afmfad ¢

(a) AR geftorar (b)  Tomera

() foe T (d) T T

%<

(1) (2T (b) (2) (0 T (d) B3 ()W () 4) ()T (d)
12. EA IS H THRHES & aRH aggar e ARk war g

(a) TE ST Hed (b) TRA FERTH

(c) Ut ¥ = HredH d) f

e :

1) @OWeE (2 @@ 3) (b)) T (d) 4) (b)T()
o-s [N 5




13. Which of the following forces contribute to the glunohumeral external rotation of the

arm :

(a) Activity in the intraspinatus

(b)  Activity in the teres minor

(c) Activity in the subscapularis

(d) Passive force developed in the glunohumeral ligament.

Codes :

(1) @), Band© 2 @ Gandd (@) b)(©and(d @ () (d and ()
14. Stages of learning are :

(a) Associative stage (b) Autonomous stage

(c) Feedback stage (d) Reinforcement stage

Select the correct answer :

(1) @and(®) (2 @and(@© (@) (G)and(d @) ()and (d
15. Skills to develop emotional Maturity are :

(a) Self awareness (b)  Controlling Impulses

(c) Resisting negative influence (d) Delaying gratification

Find the correct combination :

1) Gand@© @ ) and (d) () @and(d) (4 (b)and (d)
16. Niacin is found in which of the following ?

(a) Tomatoes (b) egg (c) Cereals (d) Butter (e) Yeast

Codes :

(1) @and() (2 (Mandd  (B) ©and(e (4 (d)and (a)
17. In order to achieve optimum readiness state, the psychological preparation should include

the following. Find the correct answer using the codes given below :

(a) Use of physio - therapeutic measures.

(b) Administer high training load to bring down the level of activation

(c) Psychologist should directly contact the Athlete.

(d) Importance of the competition should be emphasised.

(e)  Use psycho - regulative techniques.

Codes :

O @O0 @ @O @ @O @ b e
pans i :




13. Frafafed § @ a0 @ 9@ qensii & ' TeARrRa’ 9 9RyH § AReH ST ©
(a) TErAETed H TR

(b) AT H T

(c) FsERYARY H foha

(d) TR T ¥ faefaa fftwa o«

W:

1) (@, b)) (2 @ OIE @) O, ©@QIE @) () () AR (@)
14. HEA & [{OE

(a) TEER = (b) TR =

(c) ThISs® =W (d) I =)0

uﬁwgﬁq:

(1) (a) &R (b) 2) (@) 3R (o) (3) (b) ¥R (d) (4)  (c) ¥R (d)

15.  WTeIcH: Rqered] o1 T e & foTT hiviel © :

(a) E-STEshdl (b) T smEm
(c) THRIHS IHE A1 Ty (d) dfte =1 foacied
WEl WA S Gga ST

(1) (b) ¥R (o) 2) (b), (@ 3IR() (3) (a) () (4)  (b) &R (d)

16. frfafea § 9 fegd franfaa’ o s g2
(a) THTX (b) el (c) o (d) weEH (e) #E

T:Ig_d':
1) (@) IR (c) (2) (b) &R (d) 3) () I (e) (4) (d) R (a)

17. $wqn qordl i feurfa & a9 & fag, weme T | fefated snfre g =nfee) = fae
T %2l 1 AN I L T I AT
(a) HITIHR STARHS UM 1 FA
(b) EFFIV & R HT FH H & fow siferer gieeror 9R
(c) TAICNITTeRT %! HY TR T THee § ¥ w1 16T
(d) fagf<ar #1 7ed W 5 fean s =nfeg
(e) HATAMTATH qehIehl 1 FAM

) (@ (@), (b), (e) (3) () () (d) 4 (b), (d) (¢

| / (
il

C

), (b) ()
(HRAN

BN
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18. Which of the following statements would be false about multiple correlation ?

(a) It ranges from — 1.00 to 1.00 only.

(b) It ranges from 0 to 1.00 only.

(c) Itranges from — ooto + oo.

(d) It ranges from —1.00 to 0 only.

Codes :

(1) (b) only (2) (@), (c) and (d) only

(3)  (c) and (d) only (4) (a) and (c) only

19. The arc target sizes for French short serve test are :

(@) 227 (b) 26”7 (c) 30”7 (d) 34”7

(e) 38" () 427 (g) 46”7 (h) 50”7

Select the correct answer :

M OO0 @ @6 @ @O0 @ @ e 0

20. While constructing timetable for physical education class, the factors to be considered are :

(a) Head of institutions preference (b) Convenience of parents

(c) Availability of facilities (d) Awvailability of Physical Education teacher

Codes :

1) @ad@© @ ©@and(d () ©and(@ 4 (a)and (b)

21. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Selective attention is a skill that can be learned.

Reason (R) : There is no doubt that some sports persons are better at selective attention
than others. However, there is no reason to believe that this skill can be
acquired.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true and (R) is false.

(4) (A)is false and (R) is true.

o7 | [N ;




18.

19.

20.

21.

o-ors [N

freafafed § @ w9 W wo ag Gadl & 9§ Terd g 2
(a) IE HIA —1.00 F 1.00 % = Bl 7

(b) IE FHIA 0¥ 1.00 F i< BT T |

€ TE — W + o I B I

(d) € FHIA —1.00 F 0 F s Frer 2|

e :

(1)
(3) e (c) 3R (d) (4) e (a) AR (c)

T T e e % fad = % e SR € ¢

(a) 227 (b) 26" ) 30~ d) 34"

(e) 38" ) 427 (g) 46" (h) 50"

'Fl%"\' I aﬁ :

1) (G, @) @& b 2 @ © @€ @ 6 @ @@ 0 @ @ @ @)

I foen & fau 999 - 9ol d9R 30 999 T S T &M < =ifen

(a) HE % YIE H €S (b) Har - far =t gfaen

(c) Hfawsdi =t SucTedar (d) TR foen faarr 1 Sucrsud

< :

(1) (a) ¥R () 2 (0¥ (d) (3) (o) ¥ (a) 4) (a) ¥R (b)

= T Feo fau M ¥, T rfueRed (A) ® TR U A (R) ® ¢
ATHFRIT (A) :  TIAICHSE A Tk HIvTeA § T8 Hran 1 Gevel € 2

& (R) : 1.4 $o faae g faenfedl 1 sman = sam o fus o= ¥
qonfa o8 favamd & &1 g SR T8 o 98 wiwa AfSa foman s g ®1

ST S Al & e § frfafad § § &1 W e 9@ © 2
(1) (A) ¥R (R) i ¥ T &R (R), (A) FT W =a0EA1 2|
2) (A) 3R (R) 2 9t ¥ fohg (R), (A) T T =me 76 21
(3) (A) @ T R (R) TEl & 7

4) (A)9E T T iR (R) 9 B

O
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22. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : The O, content of blood (100% Hb saturation) for females is around
174 ml O,/It of blood.

Reason (R) : Training can eventually change the structure of lungs so it could take up
more O,.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true and (R) is false.

(4) (A) is false and (R) is true.

23. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Leaders who appreciate a player after making a good play or express
disappointment or anger after an unwelcomed performance are practicing
behaviourist style of leadership.

Reason (R) : The thrust of this style is to treat each player according to the need and
environment of the player.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true and (R) is false.

(4) (A)is false and (R) is true.

24. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Children of different ages as well as children of same age show differences
in their respective mental age.

Reason (R) : The child’s level of education is determined according his mental age.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true and (R) is false.

(4) (A)is false and (R) is true.

o-oss [ VA 1




22, = T Fe fgu T €, T R (A) § SR @0 @k (R) ® ¢

23.

24.

o-ors [N i

fueReT (A) :  Tfeesti % W& (100% Hb Tqfa) § O, 1 7 aver 174 fa.aft. /ofiex & o 2t
gl

qh (R) e @ oTaq: SRSl ot HeE B 39 YR URadH et ST gkt § fSEa 3 &R
Aferk O, ot Tk |

ST S Al % Hed # frfafad # | & W e 9@ § 2

(1) (A) 3R (R) T T&l € IR (R), (A) FT Tl == 2|

2) (A) 3R (R) 3 & T fHg (R), (A) F TEH =men T 2

() (A) T T R (R) &t T 71

4) (A) 9@ 7@l T iR (R) 9 B

= < e fou MU ¥, U IR YM (A) € TR qEU 9k (R) T :

ATURAT (A) : TS S 3T=0 T & 915 TGSl it T Fd & a1 TUE Y & 918 3T 21
T e A & o g & HTERAT! Sreit 1 I PR |

qh (R) :  ST! il &1 IR Foeret &1 sravaewd iR ufas & F7aR g+ faares &
TR HET R |

ST S Al & Ged § frfafad # § &1 o e 9@ § 7
(1) (A) 3R (R) T TEl € IR (R), (A) FT T&l == 2|

2) (A) IR (R) T T& T fhg (R), (A) FT 6 =08 T T
(3) (A) T ? 3R (R) ¥t T 2|

(4) (A)E T T IR (R) 9 R

= S we fou T €, T rfueR e (A) ® SR U 9eh (R) R :

AURIT (A) : T oY & o=d 3R W1 & THA A & T=d AT AT 3T § R
A

qh (R) =9 o1 f1eT - W Ut gHfgs T & ST ER i foean s §)

ST S FweEl % e # frfafad # | & W ke 9@ § 2

(1) (A) 3R (R) T T&l € IR (R), (A) T Tl == 2|

2) (A) 3R (R) 3 & T fHg (R), (A) F W& =men 7 2

() (A) T T R (R) 9t T 7

(4) (A)EE Tl T IR (R) 9L R

=
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25. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Shock is the condition in which circulation blood volume gets lost or decrease

to considerable extent.

Reason (R) : The blood circulation takes place at lower pace than the normal due to

massive pulmonary embolus.

In the context of the above two statements, which of the following statements is correct ?

1)
()
®3)
(4)

Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) are true but (R) is not the correct explanation of (A).
(A) is true and (R) is false.

(A) is false and (R) is true.

26. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Massage produced mechanical pressure on soft tissue displaces fluids that

moves in the direction of lower resistance under the static forces of the
practitioner’s hand.

Reason (R) : Stroking massage decreases edema; compression converts nonpitting edema.

In the context of the above two statements, which of the following statements is correct ?

(1
(2
(3
4

~— N~ ~—~ —

Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) are true but (R) is not the correct explanation of (A).
(A) is true and (R) is false.

(A) is false and (R) is true.

27. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : When the competition is over, the players have a post event reaction to

assessing whether the set objectives of the competition are achieved.

Reason (R) : The athletes who could not achieve the set goals of the competition need to

be reminded of it soon after the competition.

In the context of the above two statements, which of the following statements is correct ?

(1
(2
(3
4

~— N~ ~— ~—

oarss [ ]]

Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) are true but (R) is not the correct explanation of (A).
(A) is true and (R) is false.

(A) is false and (R) is true.

T 2




25.

26.

27.

= < e fou MU ¥, U IR YT (A) T SR T @k (R) T

AR (A) : W T TET <90 & 9 o JaTe o1 ST B S € A1 39 At w8
S R

Th (R) :  SIRER YoM Teard & HROT o a8 W 1 3798t &9 Tfd § 8 2|
ST SHI HUAl & ded # frefafad § 9«1 91 hud Wa § 2

(1) (A) 3R (R) I T&I € IR (R), (A) FT T&I 1A T |

2) (A) 3R (R) T w2t ¥ fohg (R), (A) T T&T =0 T 21

() (A) T T R (R) &t T 71

4) (A)9E T T iR (R) 9 B

9 & wed fou T ¥, T AfUeme (A) § IR O 9k (R) ©

AURYT (A) :  FHA dqAl R FHN ¥ I9=1 FiA% 99 9 (RES) 9 fowenfud et g st
ATFEHT & 219 & Wifaw o & 1 FreaaR gfadie =61 feen # denferd g 21

qeh (R) TSIk TS TfEHT &l 8 o3d1 §; qord (FEE) TH-afn ufem o1 ufafda
FI AR

39 <M wel & Hed § frefafed § @ & 91w w@ 72
(1) (A) 3R (R) T T&l € IR (R), (A) FT Tel =m= 2|

2) (A) 3R (R) T T&l € fhg (R), (A) FT 9 =08 T T
(3) (A) W& T R (R) Tl & 7

4) (A) 9@ 7@l T iR (R) 9 B

)
)

= 1 e fau u E, wk rfieRem (A) iR gwu Aeh (R) ©

ATURYT (A) ;o Ffaeayt wuTa et & faeet 98 uar w3 & fag et & Suid fafsman san
? for o wfaeget & fruifa el 1 wra o foan T 82

ek (R) < uyde (Taonet) wfaeayt & fuifa aedi o g = &2 9 2, 39 gfaeqat &
T I ST TR HIA HT AEYFRAT 2l ¢ |

374 I weHl & e # frefafed § 9 w9 @1 wed 9@ T2
(1) (A) 3R (R) T T&l € IR (R), (A) T Tl == 2|

2) (A) 3R (R) < w2t ¥ fahg (R), (A) T & =0 76 21
(3) (A) W& T R (R) Tl & 7

4) (A)"E T € R (R) T B

o-ors [N 1



28.

29.

30.

oarss [ ]]

Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R) :

Assertion (A) : Power is the probability of rejecting the null hypotheses, when it is false.
Reason (R) : Greater the power, the less likely is the significant different.

In the context of the above two statements, which of the following statements is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true and (R) is false.
(4) (A)is false and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Evaluation is the art of judgement but scientifically not applied to some
predetermined standards.

Reason (R) : Evaluation is a dynamic, never-ending process.

In the context of the above two statements, which of the following statements is correct ?
(1
(2
3
(4

) Both (A) and (R) are true and (R) is the correct explanation of (A).

) Both (A) and (R) are true but (R) is not the correct explanation of (A).
) (A) is true and (R) is false.

) (A) is false and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The manipulation of soft tissue prior to and after exercise promotes physical
and physiological changes that aid performance and particularly recovery.

Reason (R) : Therapist monitors stress which may be building up in body and warns
against potential injury.

In the context of the above two statements, which of the following statements is correct ?
(1)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true and (R) is false.

(4) (A) is false and (R) is true.

T Y

Both (A) and (R) are true and (R) is the correct explanation of (A).




28.

29.

30.

o-ors [N i

T < e feu e, U ifieRed (A) § IR gHU 9k (R) R :

AfRT (A) : VR T ToRheUT 1 STEhd i i FHIAA 59 I8 Tad o |
qeh (R) Tt eifuss wifsa anft eifaes st=ae it Sestren 3aet & %9 2t |
STdE Sl el & Geo # frefafad § @ FF o Fuw 9 ®2?

(1) (A) 3R (R) AT @&l € iR (R), (A) T W€ =A== T

2) (A) 3R (R) < 9t ¥ fahg (R), (A) T T =@ 76 2

(3) (A) T ? 3R (R) Tt T 2|

(4) (A) T T T IR (R) W R

T 9 e @ T € o0 @ gem 6 rfueRem (A) oIR fgdi #1 @k (R) el TR

AfIRAT (A) : oA R & el § W 38 d e areuel W e w9 | @n] T
[ERISISIN

qh(R) :  OHHA T A SR H T FHG §H et Wi |
Sqeq wedl F FreAfafad § § B w1 wud wE §?

(1) (A) 3R (R) < &l €, 3R (A) FT (R) & A& T

(2) (A) ¥R (R) <l & €, &R (A) F1 (R) ¥EI =A0CA1 T 2|

(3) (A) W& R TN (R) et R |

(4) (A) 7o € A (R) WE

= & e fou U ¥ T ifieRed (A) ® iR gmu ek (R) % :

AR (A) : AW | T IR 9% TvETd HITd dq3i & qiEmed 9 Hifaw @ arifes gfadt
! agrEn faaa § fed s - frsues qen ot e oy (Reedt) #
TR YT Bt ¢ |

qh (R) : Tafhcs (RTR) B8 &1 AFed #d § o IR § faftfa & gehar € ok 3 iy
<12 I AFR =AqEl <d |

ST SHI weAl & dey # fefafad § § :F 91 % 9d § 2
(1) (A) 3R (R) I T&I € IR (R), (A) FT T&I A T |

2) (A) 3R (R) S w2t ¥ fohg (R), (A) T et =0 76 21
(3) (A) W& T R (R) Tl & 7

4) (A) 9@l TE € 3R (R) W B

6]
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31. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Management involves organizing, administering and supervising the work.
Reason (R) : Well began is half done.
In the context of the above two statements, which of the following statements is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true and (R) is false.
(4) (A)is false and (R) is true.
32. Find the correct sequential order of the Information Processing Model in skill learning.
(a) Decision Making (b) Input
(c) feed-back (d) output
Codes :
1) @, (k) () (d) @) (© @), b) @ @ ®) @ (@@ @ @)@ @), @b)
33. Find the correct sequence of systemic circulation :
(a) Through aortic semilunar value-to aorta
(b)  Left ventricle
(c) Arterioles
(d) Arteries
(e) Capillaries
(f)  Venules
(g) Vena Cava
(h) Veins
(i) Right Atrium
Codes :
1) (®), (@) (@), () (d), (), (f), (h), (g)
2) @) (®), (@) (c) (), (e), (h), (), (g)
@) @) @, (C)/ ( ) (), (h), (f), (), (b)
4) (), (@) ( (@), (), (h), (8), ()
D-4715 ”| 16 Paper-II




31.

32.

33.

D7t H||H|“||“|||||H

= T Heo fou u ¥ U ifieme (A) ® oTR U Ak (R) R :

ATURAT (A) :  WoeF B HTH 1 ] FHLAT, FIET FEAT R G707 AT WA ¢
qeh (R) :  STSS1 9191 HM e

STdE SHl Al & ded # frefafad § @S9 W Fue 9§ 2

(1) (A) 3R (R) T T&l € IR (R), (A) FT Tel =am= 2|

2) (A) 3R (R) S TEl ¥ fhg (R), (A) FT 9 =08 T T

3) (A) W& ¥ 3R (R) W&l T 2|

(4) (A) T & T iR (R) W R

HIeTe AfeTH W o JHER Afed H el wH g
() i =gm (b) T (c) wfagfe (d) fw=

1) @ ®), @) @ @) (© @ k) @ @) ©® @ @ @ () @) b

T HeholvH o §11 HH I =4 &
a) 3Rl % fau f TeIRfes Sfeg™ a9
b) ow FLfEA

(b) (a ©), (), (B, (h), (g), (i
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34. Find the correct sequence of research pyramid from top to bottom :

(a) Research methodology (b) Research techniques

(c) Research paradigm (d) Research method

Codes :

1 @ © k), (@ 2 ©) @ @ @ @) («© @ @bk @ (@) b) @) (@
35. Stress consist of four interrelated stages. Arrange them in sequential order :

(a) Amount of psychological and physical threat perceived

(b) Behaviour

(c) Environmental demand

(d) Physical and psychological response

Codes :

M (© @, @) k) 2 @ ®) @ d @) (@) ()@ b @) b)) @ @
36. Find the correct ascending sequence of Glycaemic Index of following food items.

(a) Apple (b) Carrots (c) Cornflakes (d) Banana

(e)  Fructose

Codes :

1) (@), @, b), @ © 2 (@), @), b)) ©

3) (@), ), @ @) © @) (), @), @ © (@
37. Given below are the steps for talent identification and development.

Find the correct sequence from the codes given below :

(a) Identifying children talented in two events.

(b) Identifying talent for a single sport.

(c) Finding children who are talented for a group of sports.

(d) Locating suitable children for sports.

Codes :

D @ ®),© @ 2 (@) (© @ k) @) € (@ b)@@ @ b)) @) @
o-rs [N AN L




34.

35.

36.

37.

(
pars ||

Ty fofe &1 SR 9 9 &1 3R 98 8 g

(a) Y gomedt foaam (b) INY TehRleh!
(c) Mg yfqam (d) 3" o
< :

1) @ © b)) 2 ©) @ [ @ @) (© @ (@b @ (@, ®b)@) @

e B AR TR Hefd =107 8 € | S hUTaR Safeed Sifey
(a) og¥a TR 7T TR SR URiRe @ ® A

(b) TTEER

(c) TferEma =i

IR 3R TS TR

/: —~
= £z

©), (@), (d), (b) (2) (@) (b), (0 (d) (B) (d) () (@) B @) (b) (d) (o) (@)

frafafea @ gt =1 eafaes s3a & 9l AR 9 &1 989 ST

(a) ¥ (b) TSR (c) AR (d) Haer
(e) ThaRS

%<

1) (e), (@), (b), (d), () (2)  (a) (e), (b), (d), (o)

(3)  (e), (b), (d), (), (c) 4) (b), (@), (d), (0) (e)

= wfaen #1 Te=m @R fawm % = feu v )
= U 7T 2l ¥ W FHH FH =TI I

(a) I EauisT ¥ gfqwemett S=al i IgaT & |
(b) T TaEl v TfAHTMC sredi i qga LT |

(c) 3T S=dl &l TgAH HIA S O THE H FfaATnd ¢ |

(d) TARS & AT ITIH =dl I Idl T |

%<

) @ ®) ([ @) (@)@ @ ® @ (©@d) D)@ @ [b)@d), @),/
LTI 1 Paper




38. Find the correct sequence of steps for calculating one - way ANOVA :
(a) Sum of squares between the samples
(b) Sum of all the items of various samples
(c) Total sum of squares
(d) Correction factor

(e) Sum of squares within samples

Codes :
1) (o), (b), (@), (e), (d) (2)  (a), (b), (e), (d), (o)
@) (b), (@), (d), (e) (9) 4)  (b), (d), (c), (@), (e)

39. In Iowa Posture test, find the correct sequence of the following items :
(a) Sitting (b) Walking
(c) Standing (d) Foot mechanics

(e) Walking up and down stairs (f) Stooping

Codes :
1) (d) (©, (b), (@), (£), (e) (2)  (d), (), (b), (@), (), (£)
(3)  (d) (@), (b), (e), (a), () (4) (d), (b), (¢), (@), (£), (e)

40. Arrange the following types of sports management in ascending order as per their relative

merit.
(a) Eclectic Management (b) Democratic Management
(¢) Laissez Faire Management (d) Authoritarian Management
Codes :
1) @, (), () (d) 2) ) () d) @ @) (o (d) (@ (b) @) (), (b) () ()
o-ss ||| [N 2




39.

40.

1)
pars ||

. T - 9 G0 favAvor (STHET) Rt UAT o TR0 ] Wel HH T Idl IsT

et & o= at a1 S
fafi= Sooeli =t |eft wel &1 S

a)
b)

c) o &I FHA A/

o~ o~~~

d) e FRE

(e) HTA o ST=aid AT T SIS

e :
1) (o) (b), (a), (e), (d) 2) (@), (b) (e), (d), (0)
3)  (b), (), (d), (e), (c) 4)  (b), (d), (c), (a), (e)

TR g1 qeT0] & FAfatad sl &1 9@t % aasd ¢

(a) ST (b) =

(c) @EITH (d) W =ifmar

() Hifgal | =@M F 3aTT ) FH T

&

1) (@), (©) (b), (@), ) () (2) (@) (@ (b), (@), (e) ()
3) (@) (©) (b) (o), (a), (©) 4) (@), (b), (@) (@), () (e)

Wd YA & Fefafad TRl 1 3T |rafare TO-309 o TTER STRE! hH § Safed hifvg

(a) RIS Folwe (b) SHAIFR Forer
() STEEI&T Yel-ed d) fRzw gerem
< :

(@)

, (b), (
il

<)

(@) @)
NI 21

(b), (©), (d), (@) B) () (d) (), (B) (4

(d), (b), (), (a)

Paper-11



41. Match the terms of List -I with that of List - II and select the correct option using the codes
given below :

List - I List - II

(a) Universal has independent existence (i)  Aristotelianism
(b)  Universal exists only in particulars (i) Norminalism
(¢)  Universals exist in mind (iii) Conceptualism
(d) Universals have neither independent existence (iv) Realism

nor reside in mind
Codes :

(@ (b) (o) (d)
® @ @) (@) (@)
() Gv) @ (@) ()
() Gv) (@) @) (@)
4 @) (@) @) @)

42. Match the terms of List - I with that of List - II and select the correct option using the codes
given below :

List - I List - II

(a) Adrenal Medulla (i) Melatonin
(b) Hypothalamus (i) Epinephrine
(c) Adernal Cortex (iii) Corticotrophin-releasing hormone
(d) Pineal (iv) Glucocorticoids
Codes

@@ () (o (d)
@ @) G (@)
(2) @) @@ (@v) (i)
() @ @) @) 0
@ @) @ @) ()

S 111 177 1 —




41. e - 15 Gt - 119 gafaa i R 9= e 10 Fe 3 9@ s g :

el - 1 T - 11

(a) WEH H1 s T B § (i) IR
(b) T fad ofw § fommm wa § (i) AT
(c) HEsm Afesk ¥ a1 Tl (iii) STIYROMETE
(d) T % T @ A A g 3R A & Afersh (iv) Femelars

H wa gl
%<

(@ (b) (o) (d)
1 @ @) (@v) (i)
2 (v) @ (D) (i)
(3) (v) (@) (D) ()
(4) (@) (@) @Gv) (@)

42, e - 15 Geit - 11 § GAfad SIS iR 9 U T e ¥ 9@ 3 9T

T -1 T - 10
(a) Afugaen - Aww (i) AR
(b) STEATH (i) TUEAEA
(c) AfYgewR Jcghe (il) HRfCHRISTET - Rt TRAA
(d) difTaa (iv) TRIRICHITSH
HE :

@ (b) (o (d)

) (@) @) @) ()
) @) @) (v) ()
3) () () (v) ()

) (v) (@) (@) (i)

o-rs [N

1 2



43. Match the terms of List - I with that of List - IT and select the correct option using the codes
given below :

List -1 List - II

(@) The area at which an applied stress can (i) Foil
lead to permanent deformation of an object

(b)  Stress at the yield point of a material (ii) Coefficient of lift

() An unitless quantity that expresses the (iii) Yield point
capacity of a particular object to create lift

(d) Any object that can generate lift while (iv) Yield strength
moving through a fluid

Codes :
@@ (b) (o) (d)

O @ @ @) 0

@ (v @) 6 @

@) @) @ @) ()

@) (v @ @ ()

44. Match the terms of List - I with that of List - II and select the correct option using the codes
given below :

List - I List - II
(a) Personality (i)  Social learning theory
(b) Aggression (i) Recapitulation theory
(c) Motivation (iii) Drive theory
(d) Play (iv) Need achievement theory
Codes :

(@ (b) () (d)

1 @ @) (@) ()
(2) @) (v) @) @)

() @) @@ @ ()
@ @) @ @) ()

(
o-rs [N

Ml 2



43. e - 1% GEt - 1 9 gafaa i R 9= e 10 Fe 3 9@ S| g0

el - 1 et - 11
(a) TN 59 T ST T <919 G T HT SAH (i) wEd
Tt ®Y 9 fashd & dhdl §
(b) Tt go1 & quve fog W gamE (i) RIFRITCE I1F fore
(c) e IohTEfed A S foret fae og T Seomom (i) Foe TR
Yo &THAT 1 STFTeaa T B
(d) % off a5 51 g9 | TG TR A SO B (iv)  IeS Y

Hehdl & |

@@ (b)) (o (d)

1 @) ) @Gv) @)

(2) (v) @) @ @)
() @) @@ Gv) (i)
4 Gv) @ G) ()

44. G - 15 G - [1 § gafad i R = fau e e ¥ w8 W g

T -1 T - 11
(a) AfrIE () Hrera i fagia
(b)  FATHHUI (i) Terfogeem fagia
(c) IXom (i) grEa fag
d = (iv) e TETeHe fagia
Fe :

@@ (b) (9 (d)

M @ @) @Gv) ()
(2) @) (v) @) ()
(®) @) G @) )
@) (@) @ @) (i)
o-ors [N 2




45. Match the terms of List - I with that of List - IT and select the correct option using the codes
given below :

List - I List - II
(a) Instruction (i) Concept development
(b) Teaching (i) Essential visual teaching tool
(c) Demonstration (iii) Limited and narrow
(d) Explanation (iv) Comprehensive and broad based
Codes :
@@ (b) (o) (d)
1) @ @) @ @)
(2) (@v) @) @) @
() @@ @ @Gv) ()
(4) @) @v) @@ @0

46. Match the terms of List - I with that of List - II and select the correct option using the codes
given below :

List - I (Muscle)

(a) Rectus femorious )
(b) Long head of Biceps femoris (ii)
(c) Short head of Biceps femoris (i)
(d) Vastus lateralis (iv)
Codes :

@ () () (d
1 @ @) G ()
(2) (@) @) @ ()
(@) () @v) @) @
@ () Gv) @) (i)

pars [

) () @
DT 2

List - II (Origin)

Outer surface of greater trochanter of femur
Linea Aspera

Anterior Inferior iliac spine

Tubersity of ischium
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45. eI - 1 &1 Gt - 11 9 gafaa wifse ok 99 U 10 Fe 9 w&@ | g

46.

pars ||

Tt - 1
(a) fadw
(b) e
(c) e
(d) =ARe
e :

@ (® (9 (@
1 @ @) @ o (v)
) (v) @) @) (i)
@) (@) @) Gv) (i)
4) (@) (@v) @) ()

el - 11
Hehed faw™

FTereTh g Toato s

i) Eifd o) Hentl

T 3R AT A1

gt - 1 1 it - 11 @ gAfera S iR T feu 7u % 9 9@ sw g

eIt - 1 (wraueit)

TRY HRHIREE

T 8T HTh MU HHIE
) YIiE TS ATE arzH HHIRE
d) dm=H weXfaw

(b)
(1) (i)
() (i) (i)
(i) (iv)

iv)

(i)
i

)
(2)
)

)

(4 () (i)

Tt - 11 (9T )
(i) TSR AR Ak B I STEd Fag
(i) T ST
(iil) TR IR sferas T
(iv) Tgfaet @it sfesem
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Match the terms of List - I with that of List - IT and select the correct option using the codes

i) 35 seconds - 2 minutes

ii) 2 -15 minutes

iv) 35 - 90 minutes

Match the terms of List - I with that of List - II and select the correct option using the codes

List - II
Percentage of total area in NPC
(i) 43.319
(i) 47.725
(iii) 47.500
(iv) 43.913
(v) 34.134
(

vi) 37.275

47.
given below :
List - I List - II
(a) Long time endurance II (
(b) Short time endurance (
(c) Long time endurance III  (iii)) 90 - 360 minutes
(d) Medium time endurance  (
Codes
(@ (b) (o) (d)
L G @ G (1)
2 Gv) @ (D) ()
(3) @@ @) @) O
@ @ (@) G (@)
48.
given below :
List - I
Distance from the Mean Ordinate in NPC
(@) 1.06
(b) 1.966
(c) 2.06
(d) 1.56
Codes :
@@ () (o (d)
1) () @) @ 0
(2) (vi) (v) (D) (v)
G @ (v (@) (V)
@ @ (v (@) ()
o-rs ||V 2
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47. e - 15 Gt - 1 9 gafad i ok 99 U T Fe 9 9@ 3| g :

A -1 T - 10
(a) < wiferek TR 11 (i) 35 8Fe -2 fime
(b) 319 ifcTsh HEwIfR (i) 2-15fETe
(c) T Hiferer T 111 (iii) 90 - 360 fHe
(d) W= wifcss HeTufe (iv) 35 - 90 fiaTe

<
@ () (o (d)

® G @ @) (i)
2) (@v) @O @) ()
(3) (i) @G) (v) @

@4 @O @) @ @)

48. e - I Geit - 11 § GAfad HifSe iR 9 U T $e ¥ "t 3 I
T - 1 T - 11

JHTT WAl 96k | HIST hife ¥ g JHTHT AT 96k | HT & T Fravrd

(a) 1.06 (i 43.319
(b) 1.966 (i) 47.725
(c) 2.06 (i) 47.500
(d) 1.56 (iv) 43.913
(v) 34.134
(vi) 37.275
%<
@@ (b) (9 (d)
® (v @) G
2)  (vi) (v) (D) (V)
G @ (v (@) ()
@) @O (v 3§ ()
o-ors [N 2




49. Match the terms of List - I with that of List - IT and select the correct option using the codes
given below :

List - I List - II
(a) Ergometer (i)  Strength
(b) Douglas Bag (i) Body composition
(c) Manometer (iii) Work
(d) Skinfold Caliper (iv) Energy cost
Codes

@@ () (o (d)
1) Gv) @) @ ()
(2) (v) (@) @) @
(3) @) @v) G @0
4) @) G@v) @ ()

50. Match the terms of List - I with that of List - II and select the correct option using the codes
given below :

List - I List - II

(a) Classical theory of Management (i) Henry Fayol
(b) Administrative theory (i) F.W. Taylor
(c) Human resource theory (iii) Max Weber
(d) Scientific Management theory  (iv) Elton Mayo
Codes :

@@ (b)) (o (d)
® @ @ G ()
(2) @) @ (@) (i)
() @ @) @ (dv)
@) Gv) (@) @) ()

-00o0-

o-rss [T 0



49. e - [ &I Gt - [1 § GAfaa wifs den 99 58 ™ % 9 9@ S| A

b) (c) (d)
@) ()
(i) ()
(i) (@
H ()

T - 11

(

(ii
(i
(iv) Sl @

50. He - [ %l gt - 11 § gAfera &g &R = fou e $e 9 9@ s g .

Je-¥ 1 FATTER A fagr
(b) wTeMEE g

(c) W "are fagm

) I gerer fagr

(@) (b)
) © ()
) () ()

) () (i)
) () (i)

v

(© (d
(iif)  (iv)
(iv) (i)
@ (v)
(i) (@)

o-ors [N

T - 11
() T wAE
(i) THITHY,
(ili) HH TR
(iv) TeeT |

-00o0-
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Space For Rough Work

o-rss [T 5



